
  
  

Penguins  Math  (Animatics)                                                                                                    Name___________________  
  

Directions:  Wendell,  Tracy,  and  Maximillian  need  to  journey  across  
Antarctica.  Who  will  win?  The  penguin  with  the  most  CORRECT  math  
problems  will  make  it  to  the  finish  line.  For  each  penguin,  mark  one  block  
across  Antarctica  for  each  correct  answer.    
  
On  the  next  page,  color  the  space  holding  each  correct  math  problem  green  
and  the  space  holding  each  incorrect  math  problem  red  for  each  penguin.  
Then,  count  the  number  of  green  spaces  and  fill  in  the  same  number  of  
spaces  for  each  penguin  on  the  map  
  

  
  

  



  

Wendell’s  Math  Problems  

3  +  6  =  9   7  +  5  =  12   11  –  6  =  5   13  –  8  =  4   9  +  7  =  16  

5  +  5  =  10   13  –  7  =  6   18  –  9  =  9   5  +  9  =  14   7  +  7  =  14  

14  –  8  =  7   8  +  6  =  14   10  –  6  =  3   7  +  3  =  10   5  +  6  =  11  

  

  

Tracy’s  Math  Problems  

3  +  8  =  11   10  –  7  =  3   9  +  4  =  13   8  +  9  =  17   16  –  9  =  7  

12  –  6  =  5   14  –  7  =  7   5  +  8  =  13   9  +  6  =  15   11  –  4  =  7  

12  –  6  =  6   3  +  9  =  12   7  +  8  =  16   10  –  5  =  5   13  –  9  =  5  

  

  

Maximillian’s  Math  Problems  

5  +  4  =  9   12  –  9  =  3   16  =  8  =  8   7  +  6  =  13   4  +  7  =  12  

11  –  3  =  8   17  –  9  =  8   16  –  7  =  9   6  +  9  =  14   3  +  7  =  10  

13  –  5  =  8   4  +  4  =  8   9  +  7  =  16   11  –  6  =  5   12  –  4  =  8  

  

  

  

  

  

  

  

  

  



Answers:  

  
  

  

Wendell’s  Math  Problems  

3  +  6  =  9   7  +  5  =  12   11  –  6  =  5   13  –  8  =  4   9  +  7  =  16  

5  +  5  =  10   13  –  7  =  6   18  –  9  =  9   5  +  9  =  14   7  +  7  =  14  

14  –  8  =  7   8  +  6  =  14   10  –  6  =  3   7  +  3  =  10   5  +  6  =  11  

  

  

Tracy’s  Math  Problems  

3  +  8  =  11   10  –  7  =  3   9  +  4  =  13   8  +  9  =  17   16  –  9  =  7  

12  –  6  =  5   14  –  7  =  7   5  +  8  =  13   9  +  6  =  15   11  –  4  =  7  

12  –  6  =  6   3  +  9  =  12   7  +  8  =  16   10  –  5  =  5   13  –  9  =  5  

  

  

Maximillian’s  Math  Problems  

5  +  4  =  9   12  –  9  =  3   16  =  8  =  8   7  +  6  =  13   4  +  7  =  12  

11  –  3  =  8   17  –  9  =  8   16  –  7  =  9   6  +  9  =  14   3  +  7  =  10  

13  –  5  =  8   4  +  4  =  8   9  +  7  =  16   11  –  6  =  5   12  –  4  =  8  

  

  


